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1000 |P10-1 1/26(%) 14:00=14:10 (CEE | 15:00 | /KRR —=15 |RRI—tyv> 3> |FIRHEEE - CT
1001 ([P12-1=P12-2 (CZE | 1/26(*%) 14:00 15:00 | /RRA -5 | RRy—tzva>|f@E CT
1002 |P1-1 1/25(&) 17:25 18:25 | IRRAF —&15 | KRF—tzv>3>|COPD CT1
1003 |P6-4 1/25(&) 17:25 18:25 | IRRAH —15F | KR9—tzv>3>|FDG-PETHES - €At
1004 |P7-5 1/25(&) 17:25 18:25 | IRRA—215 [RRo—tva>|REX - NKRIE
1005 |P6-1 1/25(&) 17:25 18:25 | IRRAH —15 | KR9—tzv>3>|FDG-PETHES - €At
1006 |P11-1 1/26(%) 14:00 15:00 | IRRA—215 [RRF—tv>3>|AVM - Z0OAh
1007 |P10-2 1/26(%) 14:00=14:10 (CEE | 15:00 | /KRR —=15 |RRo—ty> 3> |IFIRHEEE - CT
1008 |P9-1 1/26(%) 14:00 15:00 | /RRA -5 |[RKRI—tzva>|CT BRE - €t
1009 |P4-2 1/25(&) 17:25 18:25 | IRRY —=15 |Rxy—tv>3>|PH
1010 |P1-2 1/25(&) 17:25 18:25 | IRRAF —&15 | KRF—tzv>3>|COPD CT1
1011 |P13-2 1/26(%) 14:00 15:00 | IRRA—R1F | RRI-—tySa> |[FiRA A—T20 - 20
1012 |P10-3 1/26(%) 14:00=14:10 (CEE | 15:00 | /KRR —=15 | RRo—tyv> 3> |IFIRHEEE - CT
1013 |P9-2 1/26(%) 14:00 15:00 | IRRA -2 [RRF9—tv>3>|CT BRE - T
1014 |P2-1 1/25(&) 17:25 18:25 | IRRA —%15 | KRF—1zv>3>|COPD &ZEFE - 0t
1015 ([P12-2=P12-3 (CZEE | 1/26(*%) 14:00 15:00 | /RRA -5 |RrRy—tzv>a>|fE@E CT
1016 |P9-3 1/26(%) 14:00 15:00 | IRRA—215 [RR9—tv>3>|CT BRZE - €O
1017 |P13-1 1/26(%) 14:00 15:00 | IRRA =215 | RRI-—tySa> |[FiRAA—T20 - 20
1018 |P9-4 1/26(%) 14:00 15:00 | IRRA—215 [RRF9—tv>3>|CT BRZE - T
1019 |P4-3 1/25(&) 17:25 18:25 | IRRS —=15 | Rxy—tv>3>|PH
1020 |P9-5 1/26(%) 14:00 15:00 | RRA—215 [RRo9—tv>3>|CT BRZE - €O
1021 [P12-6=P12-1 (CZEE | 1/26(X%) 14:00 15:00 | /RRA -5 | RrRy—tzv>a>|fE@E CT
1022 |P2-2 1/25(&) 17:25 18:25 | IRRA —&15 | RRF—1zv>3>|COPD ZEFE - 20ft
1023 |P2-3 1/25(&) 17:25 18:25 | IRRH —&15 | RRF—1zv>3>|COPD ZEFE - 20fh
1024 |P6-5 1/25(&) 17:25 18:25 | IRRA —15 | RR5—1zv>3>|FDG-PETHES - €At
1025 [P8-1 1/26(%) 14:00 15:00 | /RRH—&15 | RKRF—tzv>3>|COPD CT2
1026 |P5-4 1/25(&) 17:25 18:25 | IRRS —=15 | Rxo—tv>3>|PTE
1027 |P10-4=P9-6 [CEHE 1/26(%) 14:00 15:00 | /RRA—R1F |[RRF—tzva>|CT BRZE - €Dl
1028 [P7-1 1/25(&) 17:25 18:25 | IRRAA—15 |[RrRy—tvsa>|[EX - AR
1029 [P13-4 1/26(%) 14:00 15:00 | IRRA—215 [RRI-—tva>|FiAA—20 - Z2odfh
1030 [P12-5=P12-6 (CZE | 1/26(*%) 14:00 15:00 | /RRA -5 | Rry—tv>a>|fE@E CT
1031 |P2-4 1/25(&) 17:25 18:25 | IRRAH —&15 | KRF—1zv>3>|COPD &ZEZFE - 20t
1032 |P7-2 1/25(&) 17:25 18:25 | IRRA —215 |[RrRy—tvsa>|[EX - ARER
1033 |P6-2 1/25(&) 17:25 18:25 | IRRH —15 | KR9—tzv>3>|FDG-PETHERS - €At
1034 |P7-3 1/25(&) 17:25 18:25 | IRRA—R15 |[RrRy—tvsa>|REX - AR
1035 |P7-4 1/25(&) 17:25 18:25 | IRRA —215 |[RrRy—tvsa>|[EX - ARER
1036 |P3-5=P7-6 [CEE 1/25(&) 17:25 18:25 | IRRA —215 |[RrRy—tvsa>|REXZ - NHER
1037 [P12-4=P12-5 (CZEE | 1/26(*%) 14:00 15:00 | /RRA -5 | Rry—tzv>a>|f@E CT
1038 |P5-3 1/25(&) 17:25 18:25 | IRRS—=15 | Rxo—tzv>3>|PTE
1039 |P1-6 1/25(&) 17:25 18:25 | /IRRAF —&15 | KRF—tzv>3>|COPD CT1
1040 |P4-6 1/25(&) 17:25 18:25 | IRRS—=15 | Rx5—tv>3>|PH
1041 |P5-1 1/25(&) 17:25 18:25 | IRRS—=15 | Rxo—tv>3>|PTE
1042 |P3-1 1/25(&) 17:25 18:25 | IRRS—=15 | Rxo—tzy>3>|IP
1043 |P10-5=P10-4 (CEE | 1/26(%) 14:00=>14:10 (CEE | 15:00 | /KRR -5 | RRo—tyv> 3> |IFIRHEEE - CT
1044 |P4-5 1/25(&) 17:25 18:25 | IRRS —=15 | Rx5—tv>3>|PH
1045 |P8-2 1/26(%) 14:00 15:00 | /RRH—%15 | RKRF—tzv>3>|COPD CT2
1046 |P1-3 1/25(&) 17:25 18:25 | RRY—15 [RRH—tv>3>(COPD CT1
1047 |P1-4 1/25(&) 17:25 18:25 | RRAY—215 [RRH—tv>3>|(COPD CT1
1048 |P1-5 1/25(&) 17:25 18:25 | RRAY—215 [RRH—tv>3>|(COPD CT1
1049 |P4-4 1/25(&) 17:25 18:25 | IRXAY—15 [KRy—tv=a>|PH
1050 |P6-3 1/25(&) 17:25 18:25 | IRRY—15 [RRH—tv>a> |FDG-PETIEE - €At
1051 |P3-4 1/25(&) 17:25 18:25 | RRY—15 [RKRy—ty>a>|IP
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1052 |P13-5 1/26(%) 14:00 15:00 | IRRA—=15 [RRI-—tva>|FiRAA—T20 - 2odfh
1053 |P5-2 1/25(&) 17:25 18:25 | IRRY —=15 | RR9—tv>3>|PTE
1054 |P8-3 1/26(%) 14:00 15:00 | /RRH—&15 |[RKRF—tzv>3>|COPD CT2
1055 |P3-2 1/25(&) 17:25 18:25 | IRRA—=15 |RRo—ty>3>|IP
1056 |P13-3 1/26(%) 14:00 15:00 | IRRA—215 [RRI-—tva>|FiRAA—T20 - 2odfih
1057 |P2-5 1/25(&) 17:25 18:25 | IRRH —&15 | KRF—1zv>3>|COPD &ZEF - Z20ft
1058 |P8-4 1/26(%) 14:00 15:00 | /RRH—%15 |[RKRF—tzv>3>|COPD CT2
1059 |P8-5 1/26(%) 14:00 15:00 | /RRH—&15 |[RKRF—tzv>3>|COPD CT2
1060 |P2-6 1/25(&) 17:25 18:25 | IRRAH —&15 | KRF—1zv>3>|COPD #&ZEF - Z20fh
1061 [P12-3=P12-4 (CZE | 1/26(*%) 14:00 15:00 | /RRA -5 | RRy—tzv>a>|f@E CT
1062 |P5-5 1/25(&) 17:25 18:25 | IRRY —=1I5 |RRo—tv>3>|PTE
1063 |P3-3 1/25(&) 17:25 18:25 | IRRA—=15 |Rxo—tzy>3>|IP
1064 |P11-3 1/26(%) 14:00 15:00 | /RRA -5 |[RRI—tzv>3>|AVM - TOAh
1065 [P11-4 1/26(%) 14:00 15:00 | /RRA -5 |[RRI—tzv>3>|AVM - TODAh
1066 |P11-5 1/26(%) 14:00 15:00 | /RRA -5 | RRI—tzv>3>|AVM - TODAh
1067 [P4-1 1/25(&) 17:25 18:25 | IRRY —=15 |Rxy—tv>3>|PH
1068 ([P10-6=P10-5 (CZE | 1/26(*%) 14:00=14:10 (CEE | 15:00 | /KRR —=15 |RRo—tyv> 3> |FIRHEEE - CT
1069 |P8-6 1/26(%) 14:00 15:00 | /RRH—&15 | RKRF—tzv>3>|COPD CT2
1070 |P11-2 1/26(%) 14:00 15:00 | /RRA—R15 | RRI—tzv>3>|AVM - TODAh
1071 |P3-6=P3-5 ([CEE 1/25(&) 17:25 18:25 | IRRA—=15 |Rxo—tv>3>|IP
1072 |[P11-6 1/26(%) 14:00 15:00 | /RRA -5 |[RRI—tzv>3>|AVM - TODA
1073 |[P13-6 1/26(%) 14:00 15:00 | IRRA—R15 | RRI-—tySa>|[FiRAA—T20 - 20




